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Section : Arithmetic Ability
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Q1 Choose a suitable ending for this sentence: l Question ID : 16794318229

He prepared well for the exam, yet
Ans o 1. he failed in the exam.
/< 2. he past.
/< 3. he passed.
X 4 he falls.

Q2 Fill in the blank with the most appropriate option. [ Question ID : 16794318240

It is half past seven my watch.

Ans JT b}f
& 2 from
&< 3. with
X 4 on

Q.3 Provide the appropriate synonym for the underlined word in the below sentence:
i e Question ID : 16794318237

The boys live in a cohesive community.

Ans X' 1. course
W 2 close-knit
< 3. grand
< 4 coarse

.4 3 - . a .
Q4 Provide the appropriate question tag for the below question: Question ID : 16794318234

She does most of the work,

Ans & 1. mustn't she?
# 2 should she?
#< 3. does she?
W 4 doesn’t she?

Q5 : 3 ; s 5
Which sentence of the below is grammatically most appropriate? Question ID : 16794318230

Ans x1_

I planned to watch a movie and I couldn’t get the ticket but I reached home sad.

X 2

I planned to watch a movie and I couldn’t get the ticket but I reached home sad.

v &3

I planned to watch a movie but I couldn’t get the ticket and I reached home sad.

r

I planned to watch a movie but I couldn’t get the ticket but I reached home sad.

Q6 Fill; T : ;
Fill in the blank with the most appropriate option. Question ID : 16794318241

The robber tiptoed towards the locker, he awoke the guards.
Ans  of 1 lest




/< 2. along
< 3. beside
X 4 from

Q.7

Ans

Fill in the blank with the most appropriate option.

This time tomorrow, I on the cricket field.
/< 1. would play

/< 2. played

< 3. play

+ 4 will be playing

Question ID : 16794318231

Ans

Fill in the blank with the most appropriate option.
_ hedidn’t have formal education, he was a genius in mathematics.
X1 As
/< 2. Consequently
< 3. Because
« 4 Even though

Question ID : 16794318242

Ans

Provide the appropriate synonym for the underlined word in the below sentence:
She is a saviour of the destitute.

« 1. impoverished
/< 2. wealthy
/< 3. creamy layer

/< 4 dissatisfied

Question ID : 16794318235

Q.10

Ans

Fill in the blank with the most appropriate option.

My puppy dislikes  a bath.
/< 1. to taking

< 2 to take

< 3 take

v 4. taking

Question ID : 16794318232

Q.11

Ans

"Where is my walking stick?" said grandpa. The reported speech of this sentence is:
My grandpa

/< 1. asked if walking stick was there

/< 2. asked whether walking stick was there
+ 3. asked where his walking stick was

< 4 said where walking stick is

Question ID : 16794318233




Q.12 Provide the appropriate antonym for the underlined word in the below sentence: .
Question ID : 16794318238

His timid nature was the cause of his fall.

Ans  of 1. bold
< 2 bald
# 3. humid
/< 4. Pretty

Q.13 Provide the appropriate synonym for the underlined word in the below sentence:
S = Question ID : 16794318236

The welfare scheme kindled hope amongst the deprived.

Ans  of 1. ignited
#< 2. soared
X 3. decimated
< 4 reacted

Q.14 Provide the appropriate antonym for the underlined word in the below sentence: .
Question ID : 16794318239

Rustom is vague in his dealings.

Ans X 1. rather
/< 2. unworthy
v 3 clear
/< 4 improper

Q.15 : : o
One of the options below is a complete sentence. Identify it. Question ID : 16794318228

Ans X 1. Here and there
« 2. The plumber fixed the tap

/< 3. Honey and Cream
/< 4. The dog in the kennel

Comprehension:




Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz. an N.F.L.
spokesman.

The sport remains male-dominated, with no women playing in the N.F.L.
and few on college teams. But some high school girls, playing on teams
of boys. are gaining attention for their achievements.

For example. last fall. the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava, a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that youth tackle football is
harmful to children’s brains, not everyone is cheering.

SubQuestion No : 16

061 Among girls, which group seems to have taken to

Question ID : 16794318246

this sport in larger numbers?

Ans 3 1. Kindergarten gitls

/< 2. University students
« 3. High school girls
/< 4 College girls

Comprehension:




Ans o 1. A season

Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz. an N.F.L.
spokesman.

The sport remains male-dominated, with no women playing in the N.F.L.
and few on college teams. But some high school girls, playing on teams
of boys. are gaining attention for their achievements.

For example. last fall. the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava, a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that youth tackle football is
harmful to children’s brains, not everyone is cheering.

SubQuestion No : 17

Qf The word ‘fall” as used in the passage means:

Question ID : 16794318245

< 2. A reduction
/< 3. An accident
/< 4. A reason

Comprehension:




Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz. an N.F.L.
spokesman.

The sport remains male-dominated, with no women playing in the N.F.L.
and few on college teams. But some high school girls, playing on teams
of boys. are gaining attention for their achievements.

For example. last fall. the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava, a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that youth tackle football is
harmful to children’s brains, not everyone is cheering.

SubQuestion No : 18

°é1 %ofWhat is .indicating that the sport is harmful for Question ID : 16794318247
children’s brains?

Ans X 1. Coaches
/< 2. Male counterparts
X 3. NFL
« 4 Research

Comprehension:




Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz. an N.F.L.
spokesman.

The sport remains male-dominated, with no women playing in the N.F.L.
and few on college teams. But some high school girls, playing on teams
of boys. are gaining attention for their achievements.

For example. last fall. the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava, a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that youth tackle football is
harmful to children’s brains, not everyone is cheering.

SubQuestion No : 19

°é1 The two girls who made history recently in football Question ID : 16794318248
are from:

Ans 3¢ 1. Minneapolis and Florida
< 2. Texas and Minneapolis
/< 3. Hollywood and Texas
« % Florida and Texas

Comprehension:




Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz. an N.F.L.
spokesman.

The sport remains male-dominated, with no women playing in the N.F.L.
and few on college teams. But some high school girls, playing on teams
of boys, are gaining attention for their achievements.

For example. last fall. the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava, a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that youth tackle football is
harmful to children’s brains, not everyone is cheering.

SubQuestion No : 20

Q.2 ) R il . -
o The cause for fewer participants in the sport is: Question ID : 16794318244

Ans X 1. Lack of interest
o 2 Tt is an injury-prone game
#< 3. It has a poor coverage on TV

/< 4 Owing to it being a Female dominated sport

Comprehension:
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SubQuestion No : 1




@1 eFeT ST feaat 1 9y g BEd =g 22 Question ID : 16794318251
s 1 ofrseT &

X = forgiar T 3

X4 TEm |

Comprehension:

A & 71T aTgarer #F 9ga ¥ T WAl & 3ea} ST

e S & ey MR vw Fenwe g B 39 gEeear T
afeud Fleaaar 2t g1 AAaeRT H IR Fr Ho
A &1 g o S s ey @ gt aRemer ¥ axa E
TET 3AFT FUFR T THA A 2| T FHg G T a7 H
TFgd Y o ¢ AR R 3R saredr # gged g g e
FF T HEWFAGER HHD AG-83 ¥ His 7ed o 5&d
# ¢ ¢ 5uY fAEy &7 ag §¥ @I & A g

SubQuestion No : 2

2 PR T HT T 3 Question ID : 16794318252
e K0 sfeEmeR

N ooy

X3 FATSTATE

X 4 AT

Comprehension:

A fe&r aTT sTgaTer @ gge qU T WeAl & 3ok ST

e S & ey MR ve et g9 B 37 gEeear T
afEud Seaadr 2T g1 AAIaeRT HT IR HET o
g gl mgﬁg&mﬁ'wq:ﬁﬁﬂﬂﬂmmﬁmgl
TET 3AFT FUFPR T HHA A g1 T Fg G TF a=Fg H
YEd # & § AR R 38 s # 9ged @ 1 e
Fh T HATHATEAR FART -85 § H15 T5ed o T&5q4
F ¢ ¢ 388 fAEy &1 ag §F @I & A ¢l

SubQuestion No : 3

R A AT Y oy Question ID : 16794318254
it X1 mHEEe fr ST AE TS5




X 2 FAg gES H AT
V'3 3= OIE §HST F AT 1T B
X o g%  TAF & AT B

Comprehension:

At & 71T aTgarer #F 9get U T WRAl & 3ea} ST

et S & ey MR ve et g9 B 39 gEeear T
caafud HFReaEar 2t g1 AAAeRT H IR FEr Hoa
2T 2 ﬁg%&&mﬁ'mu:ﬁlﬁﬂﬂﬂmm@'mﬁl
TET 3T HIPR T HHAA A g1 F Flg G T a&Fd A
Y& # & ¢ 3R R 38 e # Yged @ g1 S
ok T HATFATER FART -85 § H15 T o I&54
X 3d gl 3O few &7 g gF weue A & A gl

SubQuestion No : 4

a4 YT S & fEdr fr Fwar J@r § Question ID : 16794318250

Ans v m
&2 g-rg' ﬁq?n-
X 5. TR
X 4 gITEA

Comprehension:

A & 71T aTgarer #F 9ga ¥ T WAl & 3ea} ST

el S & fasy MR v RERTts @ 81 398 gEeedr @
Hafeud Fleaadr 2t g1 AAaeRT H IR FEAT Ho
2T gl ﬁi’ng e ST 9T e T 9Re oSt ¥ T B
TET 3T HIPR T HHAA A 2| F Hg T T aFd A
TFgd X od ¢ AR R 3uhr suredr # gged g9 g e
FF T HEWFAGER HHD AG-83 ¥ His 7ed o 5&d
# ¢ ¢ 5uY fAEy &7 ag §¥ @I & A g

SubQuestion No : 5
Q.5 -,

‘TSI T 39T %: Question ID : 16794318253
Ans 1. TR

W 2. 3cTedur
< 3. AT
X 4 OTEAT




6 :
@ ‘= g 9% Fr gaT %"7 Question ID : 16794318258

Ans X 1. geErdETEs
< 2 FfaETes
X 3 fFaaras
v . s

V7 rataRT F T3 fr TR @ BT T a= U= g7 Question ID : 16794318269

e X0 e
<2 e
<3 oArdreTR
v & e

a8 Fa@T #§ § Fi9 @1 oreg T=hfemr %’7 Question ID : 16794318262

Ans 1 EHST
X 2 gToT
X5 gw
W 4 gsdrel

.9 Z
¥ fmF Prea-anr 7 & ¥ B vF e @em Question ID : 16794318267

Ans X1 T
X2 %
X 3 Tl
v yEeE

Q.10 :
FFH H FT T gHT 22 Question ID : 16794318261

A o1 e
X 2 gfe
<3

X+ gFeE

Q.11
{TETAT FT TEE g Question ID : 16794318266

As o 1. e
X 2. garAT
X 3. HETT
X 4 ey




Q.12

Ans

el & FiF o 9 g7 2
<1 gifeRaT

X2 oE

X ofe

v s

Question ID

116794318256

Q.13

Ans

‘9T FT AT ALl &
?{13}?{'
<28
v Fify
X< 4 arfer

Question ID

116794318265

Q.14

Ans

ety F gouT &
KT
v Tug
X3 7T
X4 g

Question ID

116794318264

Q.15

Ans

g F 39T &
Fa
X28
X s T
v T H

Question ID

116794318263

Q.16

Ans

Arafaf@a & Fia @7 aee 3 22
X1.3_-|-|:§'T
K2 HAT
Vs Rfgar

K 4 HTEE

Question ID :

16794318257

Q.17

Ans

eafafea & 9cus ueg Fia @1 272
POy

v o FOa

< 3 T

X 4

Question ID

116794318255

Q.18

Question ID :

16794318268




T AT e TE AT F HYE U E
S

< 2 =

v

/<4 Tgr|

Q.19 ;
‘F=EROT & Y T=Se gem Question ID : 16794318260

Ans  of 1 3 + TROT
X2 39 + 0T
X 3 3q + =T
X 4 39 + HROT

20
@ AT 7 9T @ farewor 22 Question ID : 16794318259

Ans

X 1. gEgETEe
W 2. FIUTET=E
X3 FEATRE
X 4 of AT S

Section : Subject Related

! srETeRE &Y (SEF) # FaT antEe &7 Question ID : 16794318281

s X1 grew T aiRE e
v o ATEATHT T AETcHS &S A ghE
X3 At Pl
X4 amdifter T

2
2 gaETEEReT fr fHewar Fa-ar i Question ID : 16794318284

X iy srRrEs F@e 7 dore

X 2 HETATT Jie B 9eR He

X3

3Rer TR T WeTTF IR IS AF AT FAA
W 4

u fafdre a9 & St i fRva @k J=

Q.3
RTIIS/HAs T FaT 37 87 Question ID : 16794318276




Ans

Ko

T Tg ¥ Aoy dieenat F A% Ay S S 9fEhar B wEeier F w9 F e g

X2

T A & fore Rroe W it see erEeR @ A o & € Hgew ST 1@l #Eeador gl

v &)

FEH T TTEN A AT FopE F TOTAEET Aoer Asenst a1 BEnt A st Fen o §)

X 4

S FT 5 TF WHANE § FE 77 3 e F Regae At & wy aeae few & B
FeTET R S S o waE w §

Q.4

Ans

e T suetET ST 27

¥ 1. afFE & Fafafea ol 1 Swea
v 2 AMEcHEE® IEad

K 3 IOMEAF TREa

X 4 zgEgR R wOfgae # agae

Question ID : 16794318270

Q.5

Ans

AT F HFAR AT FT PleA T HE T HT gl T &7
v it W

X2 Sifgws swea

X3 grfas W

X 4 HATTATcHS FRd

Question ID : 16794318273

Q.6

Ans

AT TTU AEpOE T & TE-HFET B 8 W T FT FHS &7
Ko

TEpiae NE0r F uF T Ageaqyr H{FE e gl
X 2

= WEREH gur df-REst @ daa
Y &)

= Rarr & BT W, Fpa, #fE, @9 At Fer S aepte seee Seer

X 4
ST Foo WEHIT F HUF H I’ g T@T Al FENT s A &

Question ID : 16794318289

Q.7

& TR R AU ¥ weloa §

T THE FAUE I, FEH AT SHAGAR F ¥ # W, 7 a9 # e F{ AR et e
w7

Question ID : 16794318283

Ans X“W
v 2 HETiw
< 3 el
< 4 TEresoT

Q.8

HEAT FF YF AT 82

Question ID : 16794318278




Ans

Ko
59 FI5 ST THe H AT HAT B
v Fg FIE =OfFg WX 9T SIS FT 2

X s g FIE =afFa rae gear 2

r
S F1S Aed TAS & FEEAT % ATY =T T gl

Q.9

Ans

TR ¥ 2 W H 3A 9% 5@ oA dk Remeas afwas w7 Ee

.

TH TR H T HeASRE & 9 § AR gt & oRwew ¥ O dwe ¥ v gud =

X 2

F= BRrT SHEd F e fEie § AR a6 A T T STE S 4% S £

X 3.

= AT fiEiE ¥ v seed F FeAlaE 9% a1 a9 T STE F YE F 8

v

T T S TR, TE, 3 R e & Aeaw @ gl & ey F g )

Question ID : 16794318275

Q10 oot 7 TORT T F BT wufRes gRger #=r §7?

Ans

?(1.13;?4’
X 2 HACH
X 3 | AT
v 4 gfiar

Question ID : 16794318288

Q.11

Ans

o doNfEeT s FhT A T FEET & AR A7
XK 1. 39gFA Fioehor

v 2 3T R F REF

X o

X 4 zgagT Fr GFw

Question ID : 16794318280

Q12 A7 Rame 3 TEEEOT F RIT T TosdeoT T &7

Ans

Ko

SR HeA-3EUROT Refe w & Rw gEd & Agayyt sRfkw § feaw o, 5O s=e
'HTCHTIeR YO FaT

V2

3 A o7 5 AE e dE e RewEar AR ag wetees s # aions

X 3

3THT A o R v cafed @ WS Iy deaea g @ auiEe Guie o, B s
T T

5 4
3T HFA of B ST wegplae Hedl A Aeest # @ § S wfeaes @ ove e s E o
SeeiA RIEH FeTl

Question ID : 16794318285

Q.13

3F 5 MY T F T HH HE@S 87

Question ID : 16794318272




Ans

v

TF AT FRwaT W AE oaw & w Bt agsE & Areaw @

X 2

gs, 3@ 3T smeUa # aue & 3l v efie = & AewE
X 3
st & ArTH § TUERT F IHTHT FH
X 4

AR amar gur seuRunsEt Mt gAEdr et & e & ArerE o

Q.14

Ans

"B efFaea AT gEfes et & & Far w1y g7

r
s & wer-aafate @iy &, Toas e agon $r srEegewrar @ 2

X 2

G 3T F AR ¥ §, S A, FAH AR e 95 e g

W 3

HrEaT 98 W § e 3uTae Aftasd FEg AR § S99 @1 EEE 79 F 9 g gl

F
e AR F7 i dr A=tas 3= T 2

Question ID : 16794318279

Q.15

Ans

STTNT T HeTH FTar 27
Krnﬁva"ra:rmanﬂﬁﬁﬁm

X 2

e ¥ By o Rfees aier 7 Refag ==
W 3

A Shael TOAR H, ged 30T § ST F It o grpla T FEig S

K o AT # SAfaw waw G

Question ID : 16794318286

Q.16

Ans

2T g% T=O & fOv SiEa we F et iuee & Reraeas wg wr #2

v

i @hre WEe, T4 & Sia 30 TREHIOT Ao X, FHSHT & FY Ao HEe

X 2

S SIS S W, T FAT 3 S Hwer 3R e’ & seEfiee F feiva w FEfe axer deen

X 3

T 3 afe gt # A X, J T afges g e wrea e, B & adnea
FT TR FIATI

X 4

TEAE IF AT, TEAN IF FA, W F TGS FA, AP SFHE #

Question ID : 16794318277

Q.17

Ans

FATTAT HATSATRIOT T &7 37T &2

r

Shae & wruffe a1 R aw A R F FAEwor
X 2

IF e TS # FEe AR wufra ¥ Siew § aiees § T {Ed % w9 § FU @e # SR
o wiar

v

SiaT e A FsT wep A oA g wewnn & WA & aep de &

Question ID : 16794318287




X 4

e & o7 & IR, TF S I FEFET § WA SRRV H Sgd Fecaqyl 96 HiE@ar §

Q18 grTeAs & (3AF) #F TR § M9 F4T GESS 87

Ans

.
fent o a=fet & 75w & 9N & o e
X 2

% 7% U A A TR F Feciied FIUET H FAUROT N START LA
< 3
Y, HeaTG, 8T 3R TAET FOFHSAA|

v
Tgel UGl 1S FAFHNT sl TAOT HIAT AT Io: Trod FaA|

Question ID : 16794318282

Q.19

Ans

AT qEE F HHEIART TOT § T TASA 27
r
F==r T TEATHt F I # HOF s @ FSE
v 2
To 3 SRt & AeTw ¥ gfewr & R F dae €
X 3

T GAETTE F FF A F T a9 F 394 FF H FHA §
X 4
T= T AR Feua e e €

Question ID : 16794318271

Q.20 =irer @ o e e #Ter et Fr TErTar s § ot 39 7T § S

Ans

v
T P off AT 99T s A daER awar F @y g @

X 2
T WA e & HeTH ¥ @ S g
X 3

AT STATHRTT IR 9T AT &, S Faeid, 30T o, g9 v a9 #)
X 4
STTST HTEIEUT F oA fRreor fEErT)

Question ID : 16794318274

Q.1

Ans

“Stefrfr & w1 F TP gam 87 gwe a2 w §2
X 1. FcEtas gaer

v 3= oafg ) gfE @ BEaR

X s gt ==

Question ID : 16794318309




X+ TaTPIes go=

Q.2

Ans

e e & B ot F wages o= &
X 1. TSTHIR (Educere)

v 2 TsTHI (Educare)

X 3 Usghe (Education)

X 4 UsgaeA (Educatum)

Question ID : 16794318292

Q.3

Ans

ADHD = f=afiig &9 &
Ko

snfesA 2fvdie greuwel@efadr RuaTET (Autism Deficit Hyperactivity Disorder)
X 2

Ter Sre grETTTaefadr BuaitET (Auto Deficit Hyperactivity Disorder)
X 3

e 2fhdie g5 =T (Attention Deficit High Disease)
2

s efhre gremeieeiadr BUaTET (Attention Deficit Hyperactivity Disorder)

Question ID : 16794318303

a4 i:;}:::ﬁéﬁ}ﬁ;mﬁﬁﬁmmﬁm#mmm%’ E Question ID : 16794318299
Ans XT ﬁsn_ Hgﬂ-

X 2 gATAR Fpot

X 3 BTN TR

W o T3y Fehol
Q.5

foreT fafeerar & 319 &

o gest #R afeemst & AT s

X2
VSR & o1 qeut R Afgemst & @ segaa

X 3. TAEEAT FT A@HE Heqrd

X 4
faa wfgemat 3k gw T W HAITd

Question ID : 16794318294

V¢ amEE (IEP) &1 qUT w7 w4 §7

Ans

v
sfEdgaragss TIFaa @ (Individualised Educational Plan)

<2

Question ID : 16794318295




Sl ol w_ﬁamﬂ TelleT (Instructional Educational Plan)

< 3
sf30e T el (Indian Educational Plan)

X 4
$f3fgaremEss §915 = (Individualised Engage Plan)

7 Rverr @ 3T F il o 9T &

Question ID : 16794318305

i M@ gereteE
< 2 N AT
X 3. @R eregraar
X 4 e FafaaT

Q.8 =feass F=RT & 39T FT T RaToT TREHOT §| FHA 39AT AR oPT F FERRT F &
Fa @1 @ 9 frar smer 7

Question ID : 16794318306

Ans «14 Hé;um
X 2 FgfeamnET
X 3 HFHTES
X 4 HATHAE

O g F Ty RBAY NAEF FWET F FaT AT &

Question ID : 16794318301

Ans X1' % aﬁ
X 2. frgenfirar
X s Errespforar

=

v o Erafear

10 Srofy 3rRTer T AT ¥

Question ID : 16794318302

X g T RfET

X2
Sz wafFaar eanr Head IS FeT HET
v
a1 s=4 GART HGdd HTRIF Fed FLT]

X 4 stz e wr D@ w1

" NIOS &7 quT w7 = 2

Question ID : 16794318300

Ans «y

National Institute of Open Schooling (A= STEEIE HF 3 T=HieT)

X 2




National Indian Open Schooling (F2ar 33T 39 Fgfor)

X 3
Native Indian Open School (#fta sf2a= 3iva o)

X 4

National Institute of Open Shelf (Feee SERIE 316 3T A+H)

Q12 N 29 # 57 w9 & SReRa o 71 g

Ans X ot & e RenfafEer
v 2
& garn fadiita fearst 3 #eat &1 & W
X3 fRer FT el oe
X 4 1318 & FEET TER

Question ID : 16794318304

W werdd -1986 F FEea T MEw IeTm T 37

Ans x1_ aﬁﬁ ﬁm:“_
< 2 gasitfEs gfguror

&< 4 grasifaes arafas Per

Question ID : 16794318298

Q.14 If a student is unable to walk and talk properly, this is referred to as:
Ans o 1. Locomotor disability

#< 2. Mental disability
/< 3. Learning disability
/< 4 Walking disability

Question ID : 16794318296

Q.‘I 5 Connecting with other schools and pairing with the students from different countries is an impact of technology, which
is called:

Ans  of 1 Globalisation
#< 2. Nationalisation
#< 3. Distance education
# 4 Research

Question ID : 16794318308

Q.16 I earning through correspondence’ is which mode of education?

Ans X 1. Informal education
< 2. Lifelong education

+ 3 Non-formal education
/< 4 Formal education

Question ID : 16794318293

Q.17 oo gameel Brer gomer s=at &t F 3T T 9T AT

Ans X1_ @aﬁ.

Question ID : 16794318297




X 2 HAC 33
K3 F
{4.;’“@@

018 va=r & AR FoTor H TA" F FT T 27
Ans ?{’1
ATaATcHS FU&T, HATSHHU], 9I90T iR =g Ja= Fe

2
5= & gET AR TEEE § gEd @, 3T 3R F95 v H, S § a9 e i dme
AT

X 3. qIE-gaTe, 9uT HY W
X 4
THAEH & 3Hel, Fhol H, TEELT Felliaer A ad=id|

Question ID : 16794318290

1 qrifiE TR F TR # TEEIE0T $1 e
Ans ?{’1

Tea 00 whe dEd § S afdsa # ggearewwgt afARfEt & ofrw w9 @ g ) & sa meg w=a

X 2

draa & v #5 geg B ag ¥, afea Ber |9 % Aeas ¥ @ S g

v &)

et F=a F =Or A, AN el AR TAS & any Ree-see g g

X 4

frers s==t 1 oifdis 7 W T S & B Seefes wer d

Question ID : 16794318291

Q.20 “mwEa fRrayor wgdET T F 0 TRT $EST THE e & # G fERem @ fr s
&7

e Ko defae e
v 2 grEtee e
X3 gaTS-fEed grEaEe
X 4 Wmm

Question ID : 16794318307

Section : Subject Related

! e o w2
Ans o1 eafy gomer
X 2 eregTael
X 3 get-anfia Fae
< 4 STTRIOT

Question ID : 16794318323

Q.2 T F WA F Tvead T ¥ I 7 U A F IS 0F WHET FROT

e X St & s Rew

Question ID : 16794318311




X2 @S H W=
V 3 e T SHEER
X4 o dr I

Q.3 ===t # 7T a1 Fhw FFRT T F BT T @ H T awr aEE =& e

Ans ?{’1
T B MEUH FTA A6 Aal ¢, I T & Ara|

X 2
FEFEE G T FAFT HAT AT F=4l F 3¢ GEae|
v
oA ¥ THE AR g U F HFUH FET

F
T W IO UET HT HIATH FER AT 378 FEA

Question ID : 16794318325

Q.4 P F AFedd & B e # R mn gea ea ¥ v o e s # #eg war ¢k
@ arel &I Ueh T5dT UISs ael1dl §| T8 ThH Y &l 9T (Uit 87

Ans of 1 U9 IS
X 2 g TS
<3 fEfae
< 4w

Question ID : 16794318319

¥ 3=y Ietey glEToT Hr REwaw Far 2
Ans X-].
st $r swear it arEanst & sgaw gES g 7=
v

FuA FRr F A ¢ M gEF Foas F T AR FeF oF F R T gar Few 2

< 3
MESTHH FH Hedlehed, HUUF I FuUR FLA

X 4

o Renfiel &1 @9 =1 fove " & 7 ¥ 3R sTERERE = S A aa

Question ID : 16794318317

Q.6 R s dwe & i F 39, PR, S, saqe, waEeet SReewer S ug feee fRw?

A o Erme e
X 2 fafews o=
X 3 Faa R
X 4 =TT

Question ID : 16794318321

0_7 The teacher is teaching arithmetic in the class. She continues to repeat a particular concept until it gets fixed in the mind
of the students. The approach the teacher is following in the class is called:

Ans

/< 1. Meaningful approach
« 2. Drill approach

Question ID : 16794318327




/< 3. Incidental approach
/< 4. Social approach

Q.8 Which of the following is not a benefit of information technology?
Ans X 1. Retrieval of information

/< 2. Preservation of information
« 3. Detecting information

/< 4 Knowledge explosion

Question ID : 16794318312

.Q AnEnglish teacher of grade 3 is using a role-play in the classroom to help children learn English effectively. She is
actually using a:

Ans 1. None of the other options
+ 2. Technique
/< 3. Approach
< 4 Method

Question ID : 16794318320

Q.10 =1/ #r &7 i 3W T H TEAT T T AL IATAS FiA & - 70T g o197 § T o F
gfte & war Fr

A o At
X 2w e gréf
X 3 corar
X 4 FéT T

Question ID : 16794318329

Q.11 What is the meaning of multi-grade and multi-level teaching strategies?

Ans X-L

It is about creating confidence in their interesting learning areas and then moving to other areas

X 2

These are about teaching small spells as their span of attention will be limited

X3

These are about framing more number of instructional materials or exercises with considerable flexibility

v

These are strategies where a teacher deals with learners of variant levels of varying abilities and different grade levels of
different age groups

Question ID : 16794318322

Q.‘l 2 Which branch of mathematics is considered to be essential for efficient and successful living, having the maximum
utilitarian value to almost all human in all walks of life?

Ans 3¢ 1. Algebra
< 2. Geometry
« 3 Arithmetic
< 4 Aesthetics

Question ID : 16794318328

Q.13 Which of the following is ICT-enabled evaluation method?

Ans 3 1. Personal interviews

#< 2. Pen and paper tests
/< 3. Student portfolios

Question ID : 16794318315




« 4 Online assessment

Q14 What is meant by extended conversation with children?

Ans ?<-1

The words uttered by the children are extended by the adulis

X 2
When children speak, correct their spoken language

X 3

To accept one-word answer from children to the questions asked

v

Have conversation with each child that goes back and forth multiple times

Question ID : 16794318326

O e & ¥ i a1 Iw SieFEr @ e A8 32
Ans X1_

AEARF HEH H oA H HH G FGal & @y R s aan
X 2 gEe a0 HeFerT Je F|

X 3

faraia e it as & BT Ty @ FeE)

v -
mmaﬁﬁmm@mmml

Question ID : 16794318310

Q16 T § ¥ i |7 TS 0T $T aFe 6T 82
Ans x1' E% *

< 2 e H uTeHd

v Aeg =

X 4 greg f@ATOT

Question ID : 16794318318

Q.17 Which of the following is a method of non-verbal communication?
Ans 3 1. Delivering lecture in class
/< 2. Newspapers

V' 5. Gestures

< 4 Circulars

Question ID : 16794318314

O A T FT A
Ans X1_

Tg HEY, HeHTd, IaIUT, IGEIUT H WA HT @ H aTAAIHT T TR e grider fhar
S #

X2
77 FFl cofee & s=aaE sTaRTEATs A W SR HR HEfE S @ fee s afee B e
Fa &1

W 3

g g AR HEAE aEarsl B e == ¥ T ofae S s

X 4

Question ID : 16794318316




TF T, TREeT, s it EEm & awanst = el w5 et e

Q.19 Interacting with people on the other side of the globe could lead to which of the following?

Ans 3 1. Knowledge redundancy
#< 2 Information retrieval

/< 3. Information retention

+ 4 Knowledge explosion

Question ID : 16794318313

Q20 i @ fwew Rt & #if%s Fleer 1 TE@ 0T T FAT §?

Ans «14

3 I F FATH CART ST A aTe Aeal F G AN e F A # Aee g

X 2

3% HTH-IH & Al H A A TEEw F Av TRt § v e wegmEe a =

X 3.

aTEaTHt 3T BERt #7 cuaa a0 3T e B & BT 9T & saEer &

< 4
3T THeT HR AEel A e e F BT e @ 3T wen

Question ID : 16794318324

Section : Subject Related

Q1 =t & Rre g o & gF o7 £ ST Ot 2
Ans ?(1

Question ID : 16794318343

HEA-TFATT 3T 2T SeTReRar &1 Siedifgd #:i & o)
V2

faftes Fgomat & 3¢ IfEw &= & fow
X 3. 3dH TETaTT T ofed ga & T

X 4
T, it AR fasme 7 guw w= & R

Q2 <pie’ graph is also known as:

Question ID : 16794318338

Ans 1. Line graph
« 2. Circlular graph
/< 3. Pictorial graph
/< 4. Bar graph

Q.3 [Imitation, articulation and naturalisation are related to which of the below domains in learning?

Ans

/< 1. Cognitive domain

Question ID : 16794318332

& 2. skill domain
/< 3. Affective domain

« 4 Psycho motor domain

Q.4 g M AfF (Tads) -1986 a@mﬁmﬁﬁﬂﬁ#mmma?@@[

Question ID : 16794318337




Ans

& 1. fRreqoT 9
v 2 Reror ErEaT a9
< 3 Hel ded

& 4 1% AT dF

Ans

=AH W P T ATETSH ATHREUT FT 3297 el 87
X1 fRregor

X 2 e wifes

v 3 9o

X 4 HEaEwa

Question ID : 16794318334

Q.6

Ans

ST Fterer e et & H HerTar =T ¢
Ko
oITer Taerra, At &g 3t g =g
v 2

=T T8Y 99 O TEY 3R 3oew aiF O SheT F yEy =T
X 3
SeTehr afaaat it =T fr 95T T S

X 4 zgrEETae ShET § 54

Question ID : 16794318349

Q.7
Ans

“A project is a bit of real life that has been imported into the school.” Who stated this?

« ' Ballard
/< 2. John Dewy

/< 3. Kilpatrick
X 4. JA. Stevenson

Question ID : 16794318339

Q.8

ST A fAafeE Fhe, FT 9= v g O 9 F 59ae a § AR awems F e die F o
1T 331 & o 3¢ FET S &:

Question ID : 16794318344

s X1 s @t
< 2 FifgF Fhee
v o i AT Fiee
X 4 mIfgicas e
Q.9 =¥ TR ¥ wa AU dEe # W YT w §1 F afee @ AR aF F e § wmea e s

Ans

Farel & wfavw 3 HeTdeE 3ot §1 A R TR & 9 £

v oo

K 2 Sg T

X3 FARSTE T

X 4. TAA TA F WA

Question ID : 16794318330
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Question ID : 16794318340

Q11 The most esteemed ancient art forms were:
Ans o 1. Dance forms
#< 2. Wall paintings
# 3. Handicrafts

#< 4. Music and poetry

Question ID : 16794318342
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Question ID : 16794318348
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X 4
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Question ID : 16794318335

Q14 The Cone of Experience is given by:
Ans  of 1. Dale

/< 2. Wesley

/< 3. Michaelis

« 4 Bloom

Question ID : 16794318333
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Question ID : 16794318336
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Question ID : 16794318341

M ag waTe #r oEEfE @ g ¥
X 2 Ig =@fFaeg e & s H B
X 7% 5 99 & X A ¢
X 4 U YPid % TR H T TS g

Q.17 sreEeh a2 F ghe, s=8 & == @ wiftfcas e & Rew & qu a8 & 22

Ans ?<-l

Question ID : 16794318345
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Question ID : 16794318347

Ans ?{’1
FaT # RIT0T 3TURUTe St safFadt B e # Owe i A weH sard 7

X2
F TS FIAT AT ATFTAT T AT H O92d Fid § TETH T4 g

v
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X 4
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Question ID : 16794318331
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X 2 et els
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Question ID : 16794318346
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Section : Subject Related

Q-1 Sports and games help in developing accuracy because it:
Ans o 1. Develops neuromuscular coordination

/< 2. Inculcates good habits

/< 3. Emphasises on proper diet

/< 4 Promotes mental hygiene

Question ID : 16794318353

2 efE Qe FT 38T w1 A
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Question ID : 16794318355

Q3 sme # wEE Few & B ag-raie SEeE o # sTeaE F a8
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X2 aim

X 3 S

X4 T

Question ID : 16794318365
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Question ID : 16794318350

Q.5

Question ID : 16794318351
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Question ID : 16794318369

Q7 g Re 7 T F F O e A § ¥ v
Ans o1 gaoT

X 2 37y e ofreT

< 3 geft gfa
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Question ID : 16794318359 ]

* ITPD a1 quf w9 ar 2
Ans qu1<

&-afFm SRR Siheeer 29e9ET [ In-service Teacher Professional Development

X 2

geT-ufaw € 9 Fe9AT / Inter-service Teacher Progress Development

< 3

ZA-Afew &R 9 $9e9AT / In-service Teacher Progress Development

X 4

=fzge & SR &fd ggeeie / Indian Teacher Potential training Development

Question ID : 16794318362
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Q.11

Ans

National Adult Education Programme (NAEP) was launched in:
# 1. November 1978
v 2 October 1978
/< 3. December 1978
#< 4. January 1978

Question ID : 16794318364

Q.12

Ans

it et 3 SR s ¥ B g a9 B ST R
< 1. 43.195 mts
< 2 42185 mts
V'3 42195 mts
/< 4.41.195 mts

Question ID : 16794318356

Q.13

Ans
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Question ID : 16794318361

Q.14

Ans
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Question ID : 16794318360

Q.15

Ans

The Filtration Theory of Education is given by:
+ 1. Macaulay

< 2. Charles Wood
/< 3. Sargent

< 4 Abbott

Question ID : 16794318363

Q.16

Ans

‘Alokar Jatra® is associated with which of the below states?
/< 1. Rajasthan

Question ID : 16794318366




/< 2. Gujarat
\f 3. Assam
#< 4 Andhra Pradesh

17 i i : :
Q = H BeE F AT RO a9 F T Fr o Question ID : 16794318358

Ans  of 11977
X< 21966
X 3 1986
X 4. 2005

Q.18 Fw=rc smfers wfie aregpfas =iea AR o=t & Fi= @ 92 @ 7
e B Question ID : 16794318368

Ans

X 1. g F U
jzﬂ@ﬂ'ﬂﬁg
< 3 diger T UT
X 4 e #1 9s

Q.19 Who first defined the word “community™ as a group established

by a5 having SR valpaa Question ID : 16794318367

Ans  of 1. Aristotle
/< 2. Khothari
/< 3. Kautilya
/< 4 Plato

Q.20 Which of the following is an example of rhythmic activities in physical sports?
. . RREEE Question ID : 16794318354

Ans 1. Archery

+ 2. Gymnastics
< 3. Karate
/< 4 Trekking






